VGM PG-F# 7]

BERE
- - -

B :
L1: —ExEE®
L2 : ZE¥LE®

L3: =Eatt®




PG-F HERAZ

A Eafir 125254 BRtE  PG6OF PGOOF ~ PGI120F
3 15 79 190
4 21 88 230
1 5 20 85 215
7 18 82 205
10 15 79 190
9 15 79 190
15 15 79 190
20 21 88 230
25 20 85 215
2 35 20 85 215
B e Nm 40 21 88 230
49 18 82 205
70 18 82 205
100 15 79 190
27 = 88 230
36 . 79 190
45 = 79 190
3 48 . 79 190
60 = 79 190
75 . 79 190
80 = 88 230
R Nm L1,L2,L3 | 3~100 2 5{EERE H R
TE AR rpm L1,L2,L3 3~100 3,000 3,000 2,000
B ARH rpm L1,L2L3 | 3~100 4,500 4,500 3,000
B : L1 3-10 <15~20 : <15~20 : <15~20
IR aremin L2 9~100 <17~22 © <17~22 ¢ <17~22
NI Nm/arcmin: L1,L2,L3 | 3~100 2 7.2 14
BHFEERTT N L1,L2,L3 | 3~100 590 1,700 2,850
BT N L1,L2,L3 i 3~100 325 840 1,470
P fE hr L1,L2,L3 | 3~100 20,000
L1 3~10 >94%
ETEIRE % L2 9~100 >91%
L3 27~100 > 86%
L1 3-10 1 35 7.6
EE kg L2 9~100 1.3 5.4 9.9
L3 27~100 - 7.3 12.2
FERRE °C L1,L2,L3 i 3~100 -10°C ~ + 90°C
ez L1L2L3 i 3-100 SEERHE
AT ] L1,L2,L3 3~100 [E5=vlC)]
LR E dBA L1,L2,L3 3~100 <70 ¢ <70 i <70
1. EieARCIREAR RIS ELLED) MR , F N SRS SILh AR FTlE = EdE .
2. BEREE: i = AR/ .
3. HbRlE: NEMOUEMEEE TS BeE.
% BARE I REARET]: BT HOR PR, EEETER [R150%, % 2£100rpm, 2240 N ATl 2 51
5. BEMBEH<CORRI T , FE 5 S aasSEEeRE, nEE>=600 ERmBRN T, FEER
FiRe=EERRIEE ERI50%LAT .
6. BEE: HEEIAR,ZEEE MEMmARR, & TS 2 E0E.




3

=== H

FEL

D1

D2
D3
D4
D5

D6

D7
L1

L2

L3
L4
L5

L6

L8

L9

L10
L11
Cl

C2
C3
C4

C5

(6]

C7
C8

C9

C10
Cl1
Bl
H1

HiF75 SR TIE
=

HAmSIEFLER
HTRERE
HIES (SR ERE
AR B
ﬁﬁmﬁgﬁﬁ%ﬂ

O =EREAERE
Hsdk
T A B 5
RE
WIS [SNEEE
LA AR IR e
RERE
E T i T R R i
iET) T

1B
KEKE 2 &

3B
Eﬁmﬁgﬂ%ﬂ%

ﬁﬁmﬁgﬁﬁﬁ%

H D= SIRALRE
AFTEZIR AT
HE

ATTEZ MR AL
LARER
DAMKE

%ﬁAﬁg@&%E

£

kAR S
AIEL R
pen s

e L2

28
3B
B
K7 el B
P
R R

70
55
12,14,16
40
17
M5x0.8P

84.5
62

30,34,34

3
0.5
20

3

48.5
67

3

14
10
70

M5x0.8P
6.35~14
315

50

35

60

35
113.5

132

10

80
4,55

13.5,15,18

1. Cl~C6 AT DA R , R KB AR DA TS

105 145
6.8 8.7
18 24,32
80 80
25 G5}

M6x1P : M8x1.25P

120 160
95 120
57 60,70
15 10
2 1
25 40
5 B

56.5 79
84 112.5

114.5 146
4 4

18 20
10 15

100 145

M6x1P : M8x1.25P
14~19 19~24

43.5 61.5
80 110
8 7
95 120
56 72
169.5 221
197 254.5
2245 288
18 30.5
120 160
6 8,10
20.5 27,35



